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TIME ALLOWED FOR THIS PAPER

Reading time before commencing: 	Ten minutes
Working time for paper:			Three hours


MATERIAL REQUIRED/RECOMMENDED FOR THIS PAPER

TO BE PROVIDED BY THE SUPERVISOR

This Question/Answer booklet for Section One and Two
Separate Multiple Choice Answer sheet for Section One.
Two standard 8 Page Answer booklets (green) for Section Three.

TO BE PROVIDED BY THE CANDIDATE

Standard items:		Pens, pencils, eraser or correction fluid, ruler
Special items:		A blue/black pen or 2B pencil for the separate Multiple Choice Answer Sheet and a non programmable calculator satisfying the conditions set by the Curriculum Council

IMPORTANT NOTE TO CANDIDATES

No other items may be taken into the examination room.

It is your responsibility to ensure that you do not have any unauthorised notes or other items of a non-personal nature in the examination room. Please check carefully, and if you have any unauthorised material with you, hand it to the supervisor BEFORE reading any further. 

INSTRUCTIONS TO CANDIDATES
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1. The rules for the conduct of WACE Examinations are detailed in the booklet WACE Handbook.  Sitting this examination implies that you agree to abide by these rules.

2. You must be careful to confine your answers to the specific questions asked and to follow any instructions that are specific to a particular question.

3. Section Three: Extended answer. This section contains four questions. Answer two questions only. 

Write your answers in two SEPARATE GREEN ANSWER BOOKLETS PROVIDED.

Clearly label the question you are answering on the front of each booklet.

4. Supplementary pages for the use of planning/continuing your answer to a question have been provided at the end of this Question/Answer booklet. If you use these pages to continue and answer, indicate at the original answer where the answer is continued i.e. give the page number.


At the end of the examination make sure that your Name is on your Examination paper, the separate Answer Booklets and your Multiple Choice Answer Sheet.



See next page




Section 1: Multiple-choice                                                                        24% (24 Marks)
This section has 24 questions. Answer all questions on the separate Multiple-choice answer
sheet provided. 
Suggested working time: 30 minutes
____________________________________________________________________________

1. Macroeconomics deals with
a) the activities of individual firms.
b) the behaviour of firms.
c) the behaviour of consumers.
d) economic aggregates.


2. The largest and least volatile component of Aggregate Expenditure is
a) consumption expenditure.
b) investment expenditure.
c) government expenditure.
d) net exports.


3. Government spending on the construction of a new public hospital is an example of

a) government social security outlays.
b) government current expenditure.
c) government capital expenditure.
d) government transfer payments.


4. In a closed economy, if C = $400m, G = $60m, T = $40m, S = $110m and I = $100m, then it is likely that

a) income earned in the next period will fall
b) income earned in the next period will rise
c) interest rates will rise since consumption is less than income
d) the government budget will be in surplus


5. A leading indicator of changes in the level of domestic economic activity is

a)     Building approvals
b)     Unemployment levels
c)     Retail sales
d)     Savings bank deposits
Questions 7 and 8 refer to the following data.

	Year
	Nominal GDP ($bn)
	CPI

	1
	500
	110

	2
	510
	115

	3
	520
	119



6. The rate of inflation in year 3 is

a) 3.9%
b) 5 %
c) 8.7%
d) 3.5%


7. Real GDP in year 2 is closest to

a) $487 b
b) $500 b
c) $502 b
d) $510 b


8. The Consumer Price Index measures
a) quarterly changes in the prices of a weighted sample of goods and services bought by households.
b) weekly changes in the price of all goods and services sold in the economy.
c) changes in the real value of goods and services consumed by households.
d) monthly changes in the price of consumer goods and services bought by all Australian households.


9. The table contains nominal data on the components of Gross Domestic Product (GDP) for a   hypothetical economy.
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Assume that the consumer price index for this economy increases from 100 in Year 1 to 110 in Year 2. What is the growth rate of real GDP in Year 2?

a) 1%
b) 0%
c) 10%
d) 4%

10. A large coal mine is forced to close because of falling demand for coal as consumers switch to less polluting fuels. The government organises retraining courses for the coal mine workers. Which type of unemployment is the government trying to reduce?

a) technological 
b) cyclical
c) frictional
d) structural


Question 11 refers to the data in the table below. 
	
	Year 1
	Year 2

	Part time employed persons
	200,000
	210,000

	Full time employed persons
	600,000
	640,000

	Unemployed persons
	100,000
	110,000

	Working age population
	1,500,000
	1,570,000








	
11. Based on the data in the table, what is the change in the labour force between Year 1 and  Year 2? 

a) 40 000 
b) 50 000 
c) 60 000 
d) 70 000

12. Which of the following pairs of indicators is most likely to occur in an economic downturn or recession?
a) A fall in concrete production and falling interest rates
b) A decrease in the number of cranes visible on city skylines and a rise in employment in service industries
c) A rise in business stock levels and a rise in planned business investment
d) A decrease in government spending on welfare and social security and an increase in production of consumption of durable goods
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13. The diagram opposite shows an economy growing over time – shifting from point S to point T. This is most likely to represent 
a) higher real national income.     
b) greater income equality.     
c) lower inflation.     
d) lower unemployment.




14. A redistribution of income away from the poorest 10 per cent of society towards the richest 10 per cent of society will move the Lorenz Curve

a) closer to the 45 degree line and increase the Gini Coefficient.
b) closer to the 45 degree line and decrease the Gini Coefficient.
c) further from the 45 degree line and increase the Gini Coefficient.
d) further from the 45 degree line and decrease the Gini Coefficient.


15. Study the data relating to suggested tax systems that could be implemented in Australia.

	Annual income
	Tax system 1
	Tax system 2
	Tax system 3

	10 000
	1000
	1200
	2000

	20 000
	1000
	2000
	3000



Based on the data shown above, which one of the following statements is correct?

a) All of the tax systems are regressive
b) Tax systems 2 and 3 are progressive
c) Tax system 1 is a proportional tax
d) Tax system 3 is the only regressive tax system


16. Which statement applies to progressive taxes, but does not apply to proportional or regressive taxes? As income falls 

a) a smaller percentage of income is taken in tax. 
b) a larger percentage of income is taken in tax. 
c) less income is taken in tax. 
d) the same percentage of income is taken in tax.





Section Two: Data interpretation/Short answer	36% (36 Marks)

This section contains three questions. Answer all questions. Write your answers in the spaces provided.

Supplementary pages for planning/continuing your answers to questions are provided at the end of this Question/Answer booklet. If you use these pages to continue an answer, indicate at the original answer where the answer is continued, i.e. give the page number.

Suggested working time: 70 minutes
_____________________________________________________________________________

[image: ]Question 17 	(12 marks)


















Inflation moves higher again 

The rebound in Australia’s inflation rate has continued at an elevated pace from the brief period of deflation recorded in mid-2020. In annual terms, Australia’s headline inflation rate was 6.1% as at June 2022, the highest annual rate recorded since December 1990.

The chart highlights that the underlying rate of inflation steadily declined between 2008 and 2020. It has, however, recently increased sharply and was 4.6% as at June 2022. This underlying rate of inflation is now well above the Reserve Bank’s target range.

The recent increase in inflation evident in Australia is consistent with the trend more globally as economies experience the impact of higher energy prices and supply chain disruptions. Additionally, the impact of highly stimulatory monetary & fiscal policy put in place to manage the COVID crisis has been associated with increased spending and firming labour markets to produce upward pressure on inflation. 					Source – RBA, July 2022


















a) 
i. State the Reserve Bank’s target inflation range? 					(1 mark)

__________________________________________________________________________

ii. State Australia’s underlying inflation rate as at June 2022 				(1 mark)

_________________________________________________________________________
b) Describe why the underlying rate of inflation was below the headline rate of inflation from June 2021 to June 2022.												(2 marks)

_________________________________________________________________________________________________________________________________________________________________________________________________________________________________
_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

c) Using examples from the article, explain the two types of inflation contributing to Australia’s current annual inflation rate result		(4 marks)

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________


See next page








d) During 2022, Australia recorded its highest inflation rate since 2001. Outline four effects of a high rate of inflation. 										(4 marks)


____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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Question 18 	(12 marks)

Use the data in the table below which refers to Australia’s income and wealth distribution by quintile in 2019-20.

Share of Australia’s wealth and income 2019-20

	
	Household 
Wealth
	Household 
Disposable Income

	Quintile
	
	

	Lowest
	0.7%
	7.4%

	Second
	4.8%
	12.6%

	Third
	11.3%
	17.2%

	Fourth
	20.5%
	23.0%

	Highest
	62.8%
	39.8%

	
	
	

	Gini Co-efficient
	0.611
	0.324



a) State the following 			(1 mark)

i. Percentage of wealth of the highest 40% of households __________________________

ii. Percentage of income of the lowest 40% of households __________________________


b) Outline the difference between income and wealth 	(2 marks)

______________________________________________________________________________________________________________________________________________________________________________________________________________________________

c) On the grid below, construct a Lorenz Curve for income and for wealth distribution in Australia															(3 marks)
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d) Describe and account for the large discrepancy between the income and wealth Gini coefficients for Australia 			(3 marks)

____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
e) ‘Many Economists believe Australia should lift the GST from 10% to 12.5% to give the government a larger tax base’. Explain how this would affect the income Gini coefficient ? 							(3 marks)
___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
End of Section Two
See next page
Section Three: Extended answer	40% (40 Marks)

This section contains four questions. Answer two questions only. 

Write your answers in two SEPARATE GREEN ANSWER BOOKLETS PROVIDED.

Clearly label the question you are answering on the front of each booklet.

Suggested working time: 80 minutes
____________________________________________________________________________

Question 19													(20 marks)

‘Australia’s GDP grew strongly in the March quarter, 2022 with the annual rate of growth at 3.2%. Underpinning this growth has been a rise in consumption spending and a pick up in investment spending. However, Australia is still performing under its potential (or target) economic growth rate of 3.5%’

a) Explain how each of the following may increase Australia’s potential economic growth rate. Use examples to support your response. 									(8 marks)

i. adoption of new technology 
ii. increases in immigration to Australia
iii. discovery of new minerals
iv. increased funding for education and training

 
Question 20	(20 marks)
						
a) Illustrate the business cycle and describe five characteristics of a trough phase of the business cycle					 							(8 marks) 

b) Discuss how a trough effects the achievement of the government’s economic objectives of sustainable economic growth, price stability and a more equitable distribution of income. 
(12 marks)

Question 21	(20 marks)
a) Draw a diagram showing the circular flow of income, identifying the different sectors and the associated leakages and injections.	(6 marks)

b) Explain the difference between the product and factor markets in the circular flow of income 
(4 marks)

c) Explain the concept of equilibrium and the changes that would occur to equilibrium if the level of leakages becomes greater than the level of injections.					(10 marks)



Question 22
‘From July 2020 to July 2022, Australia experienced a strong economic recovery.  Over this period the unemployment rate fell from 7.4% to 3.6% and the participation rate increased from 64.7% to 66.6 %’

a) Describe the unemployment rate and participation rate and explain why a decline in the unemployment rate would affect the participation rate.		(5 marks)

b) Using examples, describe each of the following types of unemployment and explain how each would be expected to change in a strong recovery period		(9 marks)
i. Cyclical unemployment
ii. Frictional unemployment
iii. Structural unemployment

c) Discuss three benefits of low unemployment to the economy.				 (6 marks)













End of Questions
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